Recall:

R |

77 Eg,[,l‘

Dif
M__ e B PrxfeX+ax ;Qe,

_ Lesson Cf ’hé Pfooﬁuc{“ /th{

y@\ 573 AT

£ (") = n x S ———r— -

CC C(X\\ =ct foB .
(‘F(K)*‘%(xﬁ) Q’(X) + % '(x \ ' - , I
B J“Cc,ost— "S!ﬂx T
CS!VUA— COS X | ’ e

r(e"B = g *

Product Rule 3 [%0300:( - [ CxB%CXB - P(XB@’OA

DiPfrentiate y=x(xrdx).
Ma—-————”%““ l X +>< ;3_ Me,quAg P(x) >< 8(><) X*i'/k

/3:” P’(xB 5)( | %‘(X) 4____X 3
Y} = \C KXB CX) + \O(x>% 1 x)
=(5x")Cx +4x) + xf’(i*"" x7%)
=Hx°+ - 5% 5, X = 5
=G x® r L35

_N'E = (x>

Ronhiale. y =G DO

T T I LT P
by L€y =" %Lx} =g — =
SN 1 N TP (VLY. F T . B —

— S £1Lx)
— axx 30:_5; @;_CxB % b )

ﬂfg;_ \O(XB %CX)—- 34—6
b QX g’ ()= 3x2re”
- = L0900+ Py g!(x)

= Jx(x3re)  (xA+2)(3x2reX) = gx L axe s 3 XXt bx it

=5HX 4-2,;(67(4—;(5{6 o x 2™



EX_5 D Ppere,mﬁako_, = (LOSXC& trsinX *t x ) Fva mfaa{‘ Xx=0)
o L(xY=cosx a(x) = eX v sinx + x>
(XY =—-sSinx q'(xX>=e> +cosx + 3x 2
Y= F00500 + £l g'(x)
C =-Sinx (e + SINX #x3) tcosx (6 # LOSK F Sxa)
o= sin©) (e +5in(0) + 02 * cos0) (e.° Hecos () + 3 02)
= O+ (+1+0)
EX-LILFMA He. x values o wohich ¥ ==X . has
~ |horizontal hmmi- line .

Note : A horizontal fanqﬂ/ﬂf line has sﬂope. m=0.

T o) = —xt g (Ay=¢

LIy = - x3 L@'S’(x)

y'= ’(x)q,(_x}* ?CXSQ'CXS
: TN TN

D=-x2>(4 + x)

= TN=0D, A=
s ,
Ex.S Find e awﬁom of He tun line o the cuurve
of v*xaosx at X =1
AFirst, find slope of fzun line | so fake porvotive..
LUx) = x& QCXS cosx
PIUXY = x % XY == <inx
v -—«D’CXBQ.CXS'* PxY q'(x) = AxcosX — X7 siNX
.- f_\/a((/(af'e_, at X 7TU: V' x=r =T cosT ~ 1 2sinl = -4
‘|Now, use QDJVL?" LT \/];K—TTS o fnd Y"m%ar‘cepf‘
\/lx r =TT%cosT = *Tr;’*\ so (T, —T2) Is on fan [/ne.

\/ = x +é

——&77‘[‘){,#—7‘[—:—_\\
Y

-m2=-gm(m) +b

=6



Exé D Plrentiote y
_ lProble,m Mul [ anr‘e,e, szaﬁomi‘
T 000 = %3 %Qd e*cosx

e %cos (x) .

Y= 3ax

()= FOGUX) *!—-Cx)&’éc) EEA L Tl
=eXeos X +e,x(—smx) FlUx) = ej‘i
= *cosx— SIM) |
y'= LX) %CXB £ QCXS_ exy
l = Ax(e c,osx) F x& e X(cosx = 51 f )
] f@z,&éﬂ Tk e Tt T,
e SOOI
%Cx)“'gr‘ MI(XS_:&X

< Need product rudel
Gl x)=cos x
GixY=-3inx

| €00= L0 + LA RTGS

N———

w“p () a (X *+ CCXB% { )
—(3x3+f><+35(f“+cx) + (x3+3x2+3x+1)(3= +e,)

Q[}'( 6"%_6’(

i Q'C@, ar,,e{#* Fe® =

Tf s(t)= ¢ —I?;?wst is the posnﬁOV\ funchlon

Gra particle;, Gnd Hhe ve,loc,lh/ Guction.

AT K th) =cost

” J US) 5'(15)“ A= 11 a7 5t> PyeS =2t i %'(&)"-‘smf

=2e-(FEeestotaint) pm%caw&m'o&i

=7 .[mc,ost +t/""smti [—_COSt ‘23/5"5!}\,-?‘:

LX) = gx‘“’éx 3

DTOWDPJUUHQF& ---\J__r(_x3+3x3+-3x4— )(&* +_€/x)
?(X)" X3+ 3x2+ 3)44—{ Q,CX) J__"’&

- gt '{x) = ar" + 6




